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o (HVEY Find the scfution to e = B, a, 5+ fay -+ with @y = 2, 0, = 3, anid
iy = LA

2oL Let Fn) = 2000/ —Fand F11 =3 Fid FiRd).
0 LT posibive Inkemer iy perfect il il equals tlie sinn ol s divisors alher than ivselE,
Urowe or disprove thae 8125 s perfecd.
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Ao THEE Y Ted 42 e u lnaary aperation defned on the st of integees & by mag = r 43 0

Vrowe that (7 80 S an abelian group,
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. |'.’JJ'.!’F._1.' Sl tzal T - 10— —1imed g for each prioe numeer p.
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o [a) 12%) YWhat iz a unitary transformation?
(b)Y 73] List three ecnivalene eondittons which characterize the unilary rransforma-
tion.
o] (2% Calegorize e nuitary transformation in % (plane] and describe these Trans
forrimations peorredrically.
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i) Pand aletl A IE A = (e, ), where

TiFe=jore— 741,
ag; — 4 -lile = j -1,
U ribherwise,
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ST Lol {ug,ug . ug } e an oethonecmal bagia far f#75. Deline
A= ! + Aol 4+ + Al

Bhow Lhal A s s syinmetric matox with cigenvaloes 3,8, .. A sod that u, iz an
cipenveclor corresponding e A, for vach

00005 Find the LT decomposition of the matrix A defioed next. {No pivoting is
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0. [a) (5% lmbuate the determanant of A7) wleoe
A= MELE
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